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[{ K & OUT | IN | GR | HDCP | NET | f&%& ||IEf: E % OUT | IN | GR | HDCP | NET | f{&=
1 HE 38 | 42| 80 | 10.8 | 69.2 |zxnamm|| 51 |mE #T 54 | 48 [102 | 25.2 | 76.8
2 |f&B I 49 | 47| 96 | 25.2 | 70.8 |azseemm|| 52 k@ = 45 | 44 | 89 | 12.0 | 77.0
3 |1Pg s 53 | 47 |100 | 28.8 | 71.2 |a=naom|| 53 |#F mus 64 | 66 |130 | 52.8 | 77.2
4 T 8l 44 | 48 | 92| 20.4 | 71.6 |a=Hsam|| 54 |LF [LER 59 | 56 [115 | 37.2 | 77.8
5 |AR 15 47 | 43| 90 | 18.0 | 72.0 |RU'E 55 |{kk I 50 | 53 [103 | 25.2 | 77.8 |RUHE
6 |®E HA 45 | 44 | 89 | 16.8 | 72.2 56 |fE#k Al 58 | 51 [109 | 31.2 | 77.8
7 |EE T 50 | 50 |100 | 27.6 | 72.4 |M4AH 57 BB 8 46 | 48 | 94 | 15.6 | 78.4
8 |2/ Rt a1 | 41| 82| 9.6 | 72.4 58 |EiE st 57 | 47 [104 | 25.2 | 78.8
90 M EA 46 | 58 |104 | 31.2 | 72.8 |k 59 |fEfE =— LE 51 | 52 [103 | 24.0 | 79.0
10 (k8% %8 47 | 51| 98| 25.2 | 72.8 |RUHE 60 B 8 47 | 42| 89 | 9.6 | 79.4 |RUHE
1 k% BE 44 | 42| 86 | 13.2 | 72.8 61 B2 Al 54 | 47 [101 | 21.6 | 79.4
12 €W B= 44 | 42| 86 | 13.2 | 72.8 62 kA & 52 | 45 | 97 | 16.8 | 80.2
13 st ® 42 | 43| 85| 12.0 | 73.0 63 EM =th 56 | 49 [105 | 24.0 | 81.0
14 Mm@ 43 | 46 | 89 | 15.6 | 73.4 64 |ZEiE i 56 | 60 [116 | 34.8 | 81.2
15 20 A& 52 | 42| 94| 20.4 | 73.6 |RUE 65 |[tE 1BF 65 | 60 |125 | 43.2 | 81.8 |RUHE
16 1 = 52 | 54 |106 | 32.4 | 73.6 66 |=# =— 48 | 58 [106 | 24.0 | 82.0
17 [kfE =4 86 50 | 43| 93| 19.2 | 73.8 67 |2)I ft— 63 | 60 |123 | 40.8 | 82.2
18 |4% = 45 | 48 | 93| 19.2 | 73.8 68 [&n M 54 | 49 [103 | 20.4 | 82.6
19 |2 #%F 46 | 47 | 93 | 19.2 | 73.8 |#E@m 69 |l EE 66 | 61 |127 | 44.4 | 82.6
20 |BiE H=E 47 | 50 | 97 | 22.8 | 74.2 |RUE 70 (& =t 46 | 45 | 91 | 8.4 | 82.6 |RUHE
21 |mgE #h— 53 | 49 |102 | 27.6 | 74.4 AR =TI 55 | 53 [108 | 25.2 | 82.8
22 |##E - 47 | 49 | 96 | 21.6 | 74.4 72 kB Rt 62 | 56 118 | 34.8 | 83.2
23[Rl =& 54 | 53 /107 | 32.4 | 74.6 73 | B 55 | 50 [105 | 20.4 | 84.6
2 ek BE 50 | 50 |100 | 25.2 | 74.8 74 |k f— 61 | 54 | 115 | 28.8 | 86.2
25 @ fE— 50 | 44 | 94| 19.2 | 74.8 |RUE 75 |2E BEE 60 | 65 |125 | 38.4 | 86.6 |BBE
2% |BE A 49 | 38 | 87| 12.0 | 75.0 76 |EH Eth 74 | 68 |142 | 54.0 | 88.0 |BME
21 st BE 49 | 44 | 93| 18.0 | 75.0
28 |BH EE 46 | 47| 93| 18.0 | 75.0
29 AR = 44 | 49 | 93 | 18.0 | 75.0 |3f
30 |TdAH {8 50 | 48 | 98 | 22.8 | 75.2 |MU'HE
31 |EmE ER 47 | 50 | 97| 21.6 | 75.4
32 |FhEE E 46 | 45 | 91| 15.6 | 75.4
33 |2) =B 54 | 55 |109 | 33.6 | 75.4
3 4 EF 48 | 54 1102 | 26.4 | 75.6
3B EE = 46 | 44 | 90 | 14.4 | 75.6 |RUE
36 Bz 5F 52 | 49 |101 | 25.2 | 75.8
37 |f£#%& IEBA ML 52 | 49 |101 | 25.2 | 75.8
38 | W 48 | 53 |101 | 25.2 | 75.8
39 |EfE W 55 | 52 |107 | 31.2 | 75.8
0 BER EE 48 | 52 1100 | 24.0 | 76.0 |RUE
41 g W 40 | 48 | 88| 12.0 | 76.0
42 HE @ 51 | 49 |100 | 24.0 | 76.0
43 | ER 55 | 50 |105 | 28.8 | 76.2
44 | BIER 59 | 51 |110 | 33.6 | 76.4
4% B & 41 | 45| 86 | 9.6 | 76.4 |RUHE
46 P I 46 | 46 | 92 | 15.6 | 76.4
47 |fEE Bt 48 | 50 | 98 | 21.6 | 76.4
48 |53 {517 57 | 46 |103 | 26.4 | 76.6
49 | 45 | 52 | 97| 20.4 | 76.6
50 [#kaAk HA 45 | 51| 96 | 19.2 | 76.8 |RUHE
b
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